
REGISTRATION SUPPORT 
HONDA CRF 450L 2019 

Ref.: 2AD2070195



M6

Assembly Sequence REGISTRATION SUPPORT 
HONDA CRF450L 2019

DATE: 08/03/2019ID.022.02

M6x16

M6

6 Nut Nylock M6 - DIN 985 4
5 Large Washer M6 - DIN 9021 6
4 Screw Round Head With Washer False M8x20 - ISO 7380 2
3 Screw Round Head With Washer False M6x30 - ISO 7380 2
2 Screw Round Head With Washer False M6x16 - ISO 7380 4
1 Screw Round Head With Washer False M5x12 - ISO 7380 2

ITEM Nº: COMPONENT: DESCRIPTION: QUANT.:
ACESSORIES

ORIGINAL PLATE  
LIGHT  

M5x12

ORIGINAL 
REFLECTOR

ORIGINAL 
REFLECTOR 

SUPPORT

ORIGINAL 
SCREW

ORIGINAL 
SCREWS

M6

M6

M6

M6

M6x30

M8x20

M6x30

M6

M6x16

M6x16


